
propionibacterium
sharmanii  

Streptokinase  
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B.thuringiensis

Trichoderma

Baculoviruses

eg. nucleopolyhedro virus
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Mycorrhiza :
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(cotton bollworms)

fixation enrich nitrogen content of soil.
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Statin
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stopping



MULTIPLE CHOICE TYPE QUESTIONS

5.  Spirulina is :

a)  Bio fertilizer 

b)  Bio pesticide  

c)  Edible fungus 

d) Single cell protein

6.   Baker’s yeast is 

a) S. Cerevisae     

b)  Ludwingi 

c)   S. octosporus  

d)  Schizo Saccharomyes  

7. Which one is wrongly matched?

a) Streptomyces - Antibiotics 

b) Coli forms - Vingar 

c) Methanogens - Gobar gas 

d) Yeast - ethanol
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8. Bt. cotton is resistant to 

a) Insects    

b)  Herbicides    

c)  Salt  

d) Drought 

9.  Which is wrongly matched

a) Alcohol - Nitrogen

b) Detergents - Lipase 

c) Textiles - Amylase  

d) Fruit juice - Pectinase

10. Assertion : Curdling is required in the manufacture of cheese.

 Reason : Lactic acid bacteria are used for the purpose.

a) If both assertion and reason are true and reason is the correct explanation of

 assertion.

b) If both assertion and reason are true but reason is not true correct explanation

 of assertion.

c) If assertion is true but reason is false.

d) If both assertion and reason are false.

11. Assertion : Yeasts such as Saccharomyces cerevisiae are used is baking industry.

 Reason : Carbon dioxide produced during fermentation causes bread dough to

 rise by thermal expansion.

a) If both assertion and reason are true and the reason is the correct explanation

 of the assertion.

b) If both assertion and reason are true but the reason is not the correct

 explanation of the explanation of the assertion.

c) If assertion is true statements but reason is false.

d) If both assertion and reason are false.
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12. More than 25% of human population is suffering from hunger and

malnutrition. Scientist from developed techniques where microbes are grown

on industrial scale as a source of good protein which can be grown from waste

water animal and even sewage.

Answer the following questions:

i) Example of SCP is

a) Azolla b) Anabaena c) Oscillatoria  d) Spirulina 

ii) SCP is

a) Single cell protein

b) Single cytoplasmic protein

c) Solute cell protein

d) Soluble cell protein

iii) The malnutrition due to protein and carbohydrate is

a) Vitamin deficiency

b) Mineral deficiency

c) PEM

d) Carbohydrate disorders

iv) Hunger signs are due to

a) Mineral deficiency

b) Protein deficiency

c) Vitamin deficiency

d) All of the above

131



17. What is biochemical oxygen demand (BOD) test ? At what stage of Sewage

 treatment this test is performed?

 BOD level of three samples of water labelled as A, B and C are 30 mg/L,

 10mg/L and 500 mg/L respectively. Which sample of water is most polluted ?

18. Given below is the Flow chart of Sewage treatment. Fill in  the blank spaces

 marked ‘a’ to ‘f’.

13.

14.

15.

16.
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19. A girl visits a cotton field and observes that a liquid is being sprayed on the 
plants. On being enquired she comes to know that it is to protect the crop 
from the insects. As a biology students can you explain the process to her 
that how would this liquid help in getting rid of the insects.

20. Plants have symbiotic associations with fungi show many benefits. 
Mention 5 such advantages.

21. What are biofertilisers? How are they useful instead of chemical fertilises?
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13.

14.

15.

16.

17.

18.

Solution Lesson : 10

MCQ

5. d) 6.    a)       7.      b)       8.     a)         9.      a)        10.     b)       11.      d)

Solution 

Ans . 12   i) d)   ii)   a)       iii)     c)        iv)      d)
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19. Liquid containing spores of Bacillus thuringiensis; eated by insect larvae; 

toxin released inside gut; larvae killed.

20. (i) Increased absorption of phosphorus

 (ii) Resistance to root-borne pathogens;

 (iii) tolerance to salinity and drought;

 (iv) Overall increase in plant growth;

 (v) Overall increase in plant developmet

21. Biofertilisers are organisms that enrich the nutrient quality of the soil.

 Advantage no negative impact on soil. Doesn’t cause water pollution
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